BERIIGER —nzgarat)
B A

FEA O—X-BX =t H23 H24 H25 H26 H27 H28 H29 H30 H31(R1) R2 R3 R4

ABEFRER £FRE60—X R i — 7 (RBE) 3 7 4 2 4 4 6 2 2 6 5
SEEREGH—TE(RE) 3 4 2 4 4 6 2 2 6 5
KEEEL 5 11 3 4 1 — — — — — —
Bt —X PR —E (RE) 1 1 2 1 1
SEEREHA—TE(RE) 1 1 2 1 1
=E PR —TE (134 1 2 1 1
NEREU T ZEREE 11 10 7 3 6 8 3 3 1 5
HEBUTZERER 10 5 5 5 3 6 6 3 5 7 2 6
BETHAO—X FEREH —E(RE) 1 1
SEEREHA—TE(RE) 1 1
SEER¥Em—TE(IE) - - — — 1 2 1
—REELTZERER 10 5 3 2 5 4 8 6 3 9
—IREELTZEREN 10 5 3 2 2 5 4 8 6 3 9
BYxREZH R e —E (RBE) 6 2 — — — — — —
SEERHH—E(RE) 6 2 — — — — — — —
FKEHM—TE 10 7 6 4 8 10 10 10 11 5 9 1
*&T 77 88 80 72 42 66 65 60 79 55 73 66
EEEXETZERER 77 87 77 69 37 65 64 56 79 54 70 61
KEEITFTEHIZBT2ERIGEHE BT %
2E 4 O—X-BHK =t H23 H24 H25 H26 H27 H28 H29 H30 H31(R1) R2 R3 R4
ABEFEZR £F#RE0—X RS —E (RE) 333 437 571 333 00 500 666 1000 250 333 545 833
SEEREH—TE(RE) 333 375 571 333 00 500 666 1000 250 333 545 833
KEEEL 555 68.7 428 66.6 100.0 — — — — — — —
Bata—X RS —E (RE) 9.0 00 125 00 500 166 0.0 0.0 00 143 0.0 0.0
SEEREH—TE(RE) 9.0 00 125 00 500 16.6 0.0 0.0 00 143 0.0 0.0
BE PR —TE (134 9.0 0.0 0.0 00 500 16.6 0.0 0.0 00 143 0.0 0.0
NMEEUTZERER 1000 1000 750 700 750 1000 100.0 00 429 429 500 556
HERU T ZEBRER 909 500 625 500 750 1000 750 1000 714 100.0 1000 66.7
BETHAO—R DZEREH—E(RE) 10.0 0.0 0.0 0.0 00 500 0.0 0.0 0.0 0.0 0.0 0.0
SEERHE—E(RE) 10.0 0.0 0.0 0.0 00 500 0.0 0.0 0.0 0.0 0.0 0.0
SEER¥EE—TE(IE) — — — — 0.0 0.0 0.0 00 125 333 00 11.1
— R ETZERER 1000 1000 100.0 00 1000 1000 1000 1000 100.0 1000 1000 100.0
“REETZEBRER 100.0 100.0 100.0 00 1000 1000 1000 100.0 100.0 100.0 100.0 100.0
BYEREZHE R G —E (RBE) 7.7 2.2 0.0 — — — — — — — — —
SEERHE—E(RE) 7.7 2.2 0.0 — — — — — — — — —
XEHH—TE 12.9 7.9 75 55 190 151 153 167 139 91 123 15
FEL 1000 1000 1000 1000 1000 1000 100.0 1000 1000 1000 100.0 100.0

EEXETZERER 1000 988 962 958 880 984 984 933 1000 982 959 924




